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Note: (1) All questions carry equal marks.
(2) Working notes are part of your answers, wherever necessary.

Q.1 20
Ramakrishna Limited issued the following debentures:

1. 11% debentures of Rs. 5,00,000 issued at par and redeemable at par.
11% debentures of Rs. 5,00,000 issued at a discount of 10% but redeemable at par.
11% debentures of Rs. 5,00,000 issued at a premium of 10% but redeemable at par.
11% debentures of Rs. 5,00,000 issued at par but redeemable at a premium of 10%.
11% debentures of Rs. 5,00,000 issued at a discount of 10% and redeemable at 10%
premium.

RItSpa: Tl i)

Show journal entries in the books of the company in connection with the issue and redemption
of debentures.

OR
Q.1 (a) 08
What is debentures? Briefly describe the different kinds of debentures.
Q.1 (b) 12

Write short notes on:
(i)  Purchase of own debentures from open market.
(ii)  Sinking Fund Method.
(iii) Convertible debentures.

Q.2 (a) 06
A Limited has 4,000 6% Redeemable Preference Shares of Rs. 100 each fully paid. The company
decided to redeem the shares on 31.12.2014 at a premium of 8%. The company makes the
following issues for the purpose of redemption.

a) 2,000 equity shares of Rs. 100 each at a premium of 10%

b) 2,000 7% debentures of Rs. 100 each at a premium of 3%
The issue was fully subscribed and all allotments were received. The redemption was duly
carried out. The company has a general reserve of Rs. 3,75,000.

Give journal entries recording the above transactions



Q.2 (b) 08
What are the provisions of the Companies Act, 1956 regarding redemption of preference shares?
Q.2 (c) 06
Write Short notes on
(a) Capital Redemption Reserve
(b) Proceeds of fresh issue of shares
OR
Q.2(a) 15
The following Balance Sheet of Zed Limited as on 31.03.2009
Liabilities Rs. Assets Rs.
50,000 Equity Shares of Rs. 10 each Fixed Assets 6,00,000
Rs. 8 paid 4,00,000 | Investments 2,00,000
5,000 13% Redeemable Preference Stock 2,00,000
Shares of Rs. 100 each 5,00,000 | Sundry Debtors 2,00,000
Security Premium 98,000 | Cash at Bank 3,00,000
General Reserve 90,000
Profit & Loss Account 1,12,000
Sundry Creditors 3,00,000
: 15,00,000 15,00,000

The company resolved:

(a) To convert the partly paid equity shares into fully paid on 01.04.2009 without requiring

the shareholders to pay for the same.

(b) To redeem the Preference Shares on 30.04.2009 at a premium of 7.5% and for this
purpose to issue 3,000 12% preference shares of Rs. 100 each at a premium of 10%

payable in full on application.

The resolutions were carried into effect. For the purpose of the redemption on 29.04.2009,

the company sold its fixed assets costing Rs. 3,00,000 for Rs. 3,82,500 and all the

investments for Rs. 2,60,000. On 31.05.2009, all payments were made on redemption except
to holders of 200 shares who could not be traced.
You are required to give necessary journal entries in the books of the company to record

the above transactions.

Q.2 (b)

Explain the guidelines for issue of bonus shares.

Q.3

The following is the trial balance of Nakul Ltd. as at 315t March,1990.
Particulars Debit Rs. Credit

Rs.

Stock, 1st April, 1989 75,000
Purchase Returns 10,000
Purchases & Sales 2,45,000 |  3,40,000

05

20



Rheges . e |
| Discount i ' 3,000
Carriage Inward 950
Furniture & Fittings 17,000
| Salaries 7,500
Rent 4,000
| Sundry Expenses 7,050
Profit & Loss Appropriation A /c (31-3-1989) 15,000
Dividend paid for 1988-89 9,000
Share Capital 1,00,000
Debtors & Creditors 27,500 17,500
Plant & Machinery 29,000
Cash at Bank 46,200
General Reserve 15,500
Patents & Trade Marks 4,800
Bills Receivable & Bills Payable 5,000 7,000
Total 5,08,000 | 5,08,000

Prepare Profit & Loss Account of the Company for the year ended on 315t March, 1990 and
Balance Sheet after the following adjustments:
i Stock on 315t March, 1990 was valued at Rs.88,000.
2. Make Provision for income tax @ 50%.
3. Depreciate Plant and Machinery @ 15%. Furniture and Fittings @ 10% and
Patents and Trade Marks @ 5%.

4. On 315t March, 1990 outstanding rent amounted to Rs.800 while outstanding salaries

totaled Rs.900
5. The directors propose a dividend @ 15% p.a. for the year ended on 31t March, 1990
after a transfer of 5% of net profits to General Reserve.

OR

Q.3 20
Write Short Notes:

(1) Trend Analysis

(2) Objectives of Accounting Standard

(3) Super Profit

Q4 (a) 10
What is ratio? What are the limitations of ratio analysis?

Q4 (b) 10
Distinguish between Balance Sheet Ratios and Revenue Statement Ratios.

OR




Q4 20
Following is a Profit & Loss Account and Balance Sheet of a company.
~ Balance Sheet as on 31.12.2008
5 Liabilities R | - e Rs.
Equity Share Capital (Rs.10) 1,00,000 | Buildings 80,000
10% Preference Share Capital 40,000 | Plant 1,00,000
Profit & Loss Account 50,000 | Stock 1,00,000
Mortgage Loan 1,00,000 | Debtors 60,000
Creditors 60,000 | Short term Investments 20,000
Taxes payable 50,000 | Cash 40,000
4,00,000 4,00,000
Profit & Loss Account for the year ended on 31.12.2008
Particulars Rs. Particulars Rs.
To Opening stock 1,00,000 | By Sales 5,50,000
To Purchases 2,00,000 | By Stock 1,50,000
To Gross profit 4,00,000
7,00,000 7,00,000
To Operating Expenses 1,50,000 | By Gross Profit 4,00,000
To Operating Profit 2,50,000
4,00,000 4,00,000
To Interest on loan 65,000 | By Operating Profit 2,50,000
To Profit before tax 1,85,000
2,50,000 2,50,000
To Income tax 95,000 | By Profit before tax 1,85,000
To Net Profit after tax 90,000
N 1,85,000 1,85,000
Calculate following Ratios:
1. Gross Profit Ratio 3
2. Current Ratio
3. Quick Ratio
4. Debtors Turnover
5. Stock Turnover
Q.5 (a) 10
What is goodwill? Describe the factors which influence value of goodwill.
Q.5 (b) 10
Explain the various methods of valuation of shares.
OR
Q.5 (a) 10
Summaries briefly the disclosure requirements of AS - 1.
Q.5 (b) 10

What does AS - 6 suggest about the change of depreciation method?

W




Q4 20
Following is a Profit & Loss Account and Balance Sheet of a company.
Balance Sheet as on 31.12.2008
i Liabilities = Rs. |  Assets Rs.
Equity Share Capital (Rs.10) 1,00,000 | Buildings 80,000
10% Preference Share Capital 40,000 | Plant 1,00,000
Profit & Loss Account 50,000 | Stock 1,00,000
Mortgage Loan 1,00,000 | Debtors 60,000
Creditors 60,000 | Short term Investments 20,000
Taxes payable 50,000 | Cash 40,000
4,00,000 4,00,000
Profit & Loss Account for the year ended on 31.12.2008
Particulars Rs. Particulars Rs.
To Opening stock 1,00,000 | By Sales 5,50,000
To Purchases 2,00,000 | By Stock 1,50,000
To Gross profit 4,00,000
7,00,000 7,00,000
To Operating Expenses 1,50,000 | By Gross Profit 4,00,000
To Operating Profit 2,50,000
4,00,000 4,00,000
To Interest on loan 65,000 | By Operating Profit 2,50,000
To Profit before tax 1,85,000
2,50,000 2,50,000
To Income tax 95,000 | By Profit before tax 1,85,000
To Net Profit after tax 90,000
o 1,85,000 1,85,000
Calculate following Ratios:
1. Gross Profit Ratio i
2. Current Ratio
3. Quick Ratio
4. Debtors Turnover
5. Stock Turnover
Q.5 (a) 10
What is goodwill? Describe the factors which influence value of goodwill.
Q.5 (b) 10
Explain the various methods of valuation of shares.
OR
Q.5 (a) 10
Summaries briefly the disclosure requirements of AS - 1.
Q.5 (b) 10

What does AS - 6 suggest about the change of depreciation method?
W .
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